D 2REB IR IR - SR - EIER
B_E R
§4 BRENAIFEMS ERNFERE
4.1 RERIFEM
Ehithid x4k
BH— FEMEESRESRIFE
1.(Z12) FINRAEARERZ( )
ABRYENBER—ES y #HifER
B.7& (0)=0,NR£X f(x)=2EFREX
C.H& f(-2)£2), MR ER f(x) 218 REN
D.BIRI R RS R W2 B IE PR EX
2 NBEREZTHRBAFEESFTEENZ( )

i ¥

1o & Ziol 1 #

A B

¥ ¥
A ll/ﬂ ‘
%

X

G D
3.ERE (X)) REFREMAE( )
A f(x)f(-x)>0 B.f(x)f(-x)<0
C.f(x)<f(-x) D.f(x)>f(-x)
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5. 240 y=f(x),xE€ (-a,a),Fx)=f(x)+(-x),ll Fx)( )
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C.EEZ TR B EBEREN
D.BEAZE TR A ZBEREN
6.(Z1EM) PR P ERRXT y HNHIE( )
Ay=x+3 B.y= -

x+1
C.y=/lx| D.y=x-4
7.(Z1ERR) THIREZBRENEE(0,+00) LREEIBRIZE( )
Ay=x B.y=x?
C.y=(x-1)? D.y=[x|
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(Df(x)=(x2-1 +\/1-x2 ;
Qfx)=E5E,

x(1x)(x< 0),
(3)ix)= [ x(1+x)(x=>0).
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9.B40 f(x),g(x) D HIRENXTE R ERBREFFREL B
f(x)-g(x)=x3+x+1,0 f(1)+g(1)=( )

A3 B.1 C.-1 D.-3

10.2HIEREY f(x)=ax?>+a B E X EX[B][2a,2%+1] LRIBREN &
gx)=f(x-2).MW g($),g(3 ) .eOMARNERER( )
Ag(3)<g($)<e®  Be(3)>g(%)>20)
cg(3)<egB3)<g(%) DeB)<e(3) <g(5)
11.(Z2) EF R {(x)=E X EXIE][-3,3] LRI ERE, BEXE
[0,3] L2 RIFRELI3)<fD),M( )

Af(-1)<f(-3) B.f(0)>f(-1)

C.f(-1)<f(1) D.f(-1)>f(3)

12.3% f(x) B E X 1E[-2,2] ERIBREL, 2 x>0 B, f(x) BRIFEBIE, &
f(1-m)-fim)<0,MMSEE m BNEVESEREZ( )

A($,4m) B.(-00,3) C.[-23] D.(4,2]
13. B40 f(x) 37 FKEL, B 1E(0,+00) L EATEIBIE £(-2 015)=0,0 xf(x)>0
RSN )

A.(-00,-2 015)U (2 015,+00)

B.(-0,-2 015)U (0,2 015)

C.(-2 015,0)U (0,2 015)

D.(-2 015,0)U (2 015,+0)

14. EFNRE y=f(x) B E X EXE)[-1,1] LT EREL B vx,x,€ [-1,1],H
X1<x; B, EH f(x)<f(x), WAREFD f(1-x)+(1-3x)<0 BIEERN( )
A(3,+) B.[7,+») C.(13 D.(35]



